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RILian : ~ ~-"G?r CflT ~ ~ 7.rr ~ fcfim ~ ~ -q ~; ~ "fftfi ~ 
CfiT m'alli ~ m ~ ~ 1 

Attempt any two parts from each question. 

Each part carries 7.5 marks. 

All the notations have their standard interpretation. 

~~~fen;:@ W ~ cfi ~~I 

~ ~ cfi 7.5 3icfl %1 

~ ~ cfi l1RCfl !'l~f(.1d 31~ %I 

1. (a) Explain using AS-AD model how the output eventually returns to the natural level in the 

medium-run, in response to a contractiomi.ry monetary policy. 

P.T.O. 
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(h) Out of the following expansionary fiscal policies, viz, an income tax cut, increase in govemnient 

spending, and an increase in investment subsidy, which do you think is the best for increasing 

output and why ? 

(c) (i) What are Wage-setting and Price-setting relations ? How is the equilibrium rate 

of unemployment determined in the labour market ? 

(ii) In price-setting relation, what is the value of mark-up and real wage when perfect 

competition exists ? 5+2.5 

( 31) AS-AD ~ cn1 B~l~<:ll it B~~~~~ fen fcnB m BCfl."q'iCflRl ~ -;fifu 

~ qftoll~fCl~q ~ li'afli CflR1 if 3Fmf: qp:m ~ ~;ll$fC1Cfl m cnl >Jll{f 

C!1{'(IT t' I 

3W[cfl{ if ~, B{Cfll~l cx:r1 if ~' ~ 31¥R if ~ I ~ fcRm: if 

0if it Cfl~Hfll -;fifu de"tll~'i cnl ~ ~ ~ ~ %, Cf cp:ff ? 
~ 

('B) (i) ~'*[n-R~ Cf ~-R~ ~~ cp:n % ? ~ ~ if ~{)'lPII£1 

cnT B'1<:'H ~ fcn'B .m Rmfur mm % ? 

(ii) ~ >TftR:t:Jm cn1 ~ if ~ "A~ ~~ if ~-31CT cr q 1«1fClCfl 

. Y\51C[{l ~. CFlT liR ma t ? 

' (a) (if Prove that wage indexation increases the effect ofunemployment on inflation. 

(if) Suppose ).l = 0.03 and z = 0.03, what is the natural rate of unemployment, if 

a = I ? (The notation used is standard) 5+2.5 
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(b) Suppose TL = 18%; Okun's law 

Phillip's Curve 

: u1 - ut-I = - 0.5 (gyt - 3%) 

: TL1. = Tit- I - (ut - 6%) 

7031 

Assume in year 0. the economy is in medium-run equilibrium. The central bank now decides 

to reduce the inflation rate to 9% by reducing it at the rate of 3% every year beginning 

from year 1. Given this infom1ation, construct a table for the values of inflation rate (% ), 

unemployment rate(%), output growth(%), real money growth(%) and nominal money 

growth (%) in different years. (The notation used is standard) 

(c) Show that Adaptive Expectation hypothesis "allows us to relate expected, unobservable 

variables to actual, observable variables". 

c 31) (i) ft:R;: Cfl1 r ~ ~ fen JOj \ll<i D cn1 +r -q Cfl i Cfl1 "ffifu lf\ ~ {l \lj ll Rl ~ >f'q(cf cn1 ~ 

~ll 

(ii) l1R c11r~~ j.l = o.o3 Cf~ z = o.o3, -m ~{1\llliHJ CfiT \>lliflfdCfl G:\ cp:rr t 

"lTfu: a = ? (~ ~ l1RCFi 319.f %I) 

(~) l1R c1lf~~ TL - 18%; ~ Cfi1 f.:r:rrr · : u1 - ut-I = - 0.5 (gyt - 3%) 

G:f;f(1Lfl. Cfsfi : TL 1 = TLt-l - (ut - 6%) 

l1R c1if~~ fen ·qlSf 0 if 31~ 31iR l1'tZIJO!Cfllctl1 fF~<11 if %I ~· q;~ll 

~ "ffifu G:\ in) erst 1 "B ~'B ~ \>lfdCltsl 3% "Cfl11 ~ 9% ~ Cfil1 

"Cfl""8 Cfi1 ~ "Cfl«<T t I ~ ·~ ~ 31T'i:TR lf\ M~ crsiT if ~ G:\ (%), 

P.T.O. 
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~U\11IIH] . CfiT ~ (%), 3~1~1 CfiT ~ ~ (%), c:m~fctCfl ~ ~ CfiT ~ 

~ (%) n~ ~ ~ ~ CfiT ~ ~· (%) cfi l=JA1 :cfft ~"BRUIT ~I 

( ~ cfi l1RCfl 31~ % I ) 

(~) ~~If~~ fen 3"ljCfl"'(YH~n~ !>If'!:! I~ II qf{Cfl~11 ~ '' !>100llf.<ld 3&~ -:qij CfiT cm:~fClCfl 

~~ -:qU -B ~ ~ ~· t''l 

3. (a) What do you understand by stagflation? Show how a sudden and a significant increase 

in the mark-up over cost can lead to stagflation in an economy. (2+5.5) 

(b) What is the nature of controversy between Lucas and Sargent and the traditional approach · 

regarding disinflation ? How has the traditional approach been supported by Taylor and 

Fischer? 

(c) Explain why the trade-off between inflation and unemployment, as suggested by A. W. 

Phillips, does not hold in the medium-run. 

( 31) enf0~11 -B 3Tfq cpn w·l~d % ? ~~,r~~ fen ffiTRf cfi "3111\ ~-3lll if "@r 

Cfi<?ft 3"lT.l1'1Cfl Cf ~ ~ cfi CfiT\UT ~ m 3"l~64CI~ if e~~~H CfiT 

~ :m "Bcmft ~ ? 

("~0 fC!fthlfd cfi ~ if C?{cfi'8 Cf '8115fo;: cfi iift<:ctl)UI o~ q'(Uj{llld ~f62:cn'IUI cfi ~ 

fcfcrrG: .CfiT CFIT ~ ~ ? ~ n~ fl:nm ~ ~ m q'(ut\llld ~R>cc:nla1 

cnT ~~ fcn7:rr ~ ? 

(~) '84~1~~ fen~ Cf ~U\Jllll~l cfi ~ ~·~ N>f~LB mu ~ -rr:rr .B4~aiCfliU 

d I~ q ~ lOfUfl"f CfiR1 if "ffill cp;fi ~ ~ ~ ? 
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4. (a) ''A nation loses control over money supply under fixed exchange rate regime with perfect 

capital mobili.ty(and constant prices), thus making monetary policy completely ineffective 

in changing output. However, fiscal policy is fully effective in such case." Do you agree? 

Explain. 

(b)· What is the difference between expenditure-switching and expenditure-reducing policies 

under fixed exchange rate system ? Also give one reason why devaluation may not lead 

to an improvement in the trade balance. 6+1.5 

(c) (i) Using demand and supply curves of foreign exchange, explain how the equilibrium 

exchange rate is determined in the foreign exchange market. 

(ii) How can you explain the depreciation of Indian rupee vis-a-vis U.S. dollar from 

Rs. 59/$ to Rs .. 68/$ during July-August 2013 and its slight recovery to 

Rs. 61/ $ thereafter using the above ? 5+2.5 

( 31) ~~~ cn1 ~ Jlfo!(nfldl cr W-R fqf.iw'l ·~ WJTl'ffi (cr W-R ~ «R) cfi 

~ ~ 31l=Rt ~ cnl ~ lR H~~OI (g) ~ % f,jjfl~ qf{OIIJ:ffGi{C\q 

~ -;:ftfu \3({11~'1 ~ qf{qfJd en-G -q 3l>l'llfCft m "\ll'Rft %1 ~ -Q:m Wffif 

-ij {I \11 Ch 16Jl ~ -;:ftfu ~: >r'llfCit mm % I " CFIT 3lJll ~ ~ ? fl JOOf $1 ~~ I 

(<Sl) 'WR fqf<iJ:f~ ~ WJTl'ffi cfi ~ cx;p.:f qf{qcfrtCfll~l q cx;p.:f ~lf!Cfll~l ~ cfi 

~ CFIT 3RT\ % ? 3"1C4li ~<"I cfi Cf1RUT cx:rrm ~ -q ~'tffi: ';f m, ~ ~ 
Cf1RUT ~~I 

P.T.O . 
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("ff) (i) ~ ~ cfi l1llT q ~ crsfiT CFil '8~1l!(11 ~ '8~~~~~ fen ~ ·~ 

~ "# '8 1)crl'i rCl f1 ~ ll GJ fcRl m f.:Jmfuf mill % ? 

(ii) dY4Cfd Cfil fl~llldl ~ 31JLf ~ Cfil ~ "# m cfi -mtr&T ~-m 

2013 "# ~ 59 ~ ]fu sfcrR ~ 6s·' m ]fu sfcrR (fCFl qft ~ 

q ~ ~ 61 m ~ (fCFl CFil f11{1Cf20 ~ fcRl m ~ ~ 

5. (a) How does domestic money supply vis-a-vis the f?reign money supply determine the exchange 

rate in ·monetary approach to exchange the determination' ? How does ·a Balance of 

Payment deficit arise according to the Monetary Approach under a fixed exchange rate 

regime? 5+2.5 

(h) What is' meant by a managed floating exchange rate system ? How does the policy of 

leaning against the wind operate ? 4+3.5 

(c) Briet1y explain how foreign exchange risk leads to need/opportunity for hedging 

and speculation. Fin(j the Covered Interest Arbitrage Margin when the annual rate 

of interest in the U.S .. is 8 percent and 6 percent in India. The spot rate is Re. 11$ 

and the one-year forward rate is Re. 0.96/$ (India : home country; U.S.: foreign 
, 

country) 5+2.5 



---------------------------- ·-

7031 

( 7 ) 7031 

C 31) fC!f~w"l ~ f.:T~ <t ~ ~FD2:ct>1ol if ~ $J ~ <t ~&T ~ ~ 

~ m fC!f-iq£1 ~ ~ f.:Tmfuf ~ % ? ~ fC!f~q;q ~ ~ <t 3Rflfu 

~ ~FD2:ct>'la1 <t ~ 'TffiR ~ if t1R1 ~ m ~ J WI ·% ? 

( Gl) ~~ (VJ·t:!l (j I fq f.i q ll ~ ~ 0 II ct1 q:ljl % ? 1:fCA" <t fq q {) (1 ~ CfiT -;:ftfu 

~m~~%? 

(~) -B~ if f!q~~~~ fcfl ~ m ~ fC!f~q;q \ll'Jf@q <t CfiRUf ~&n CJ fl~ql\lJI 

CfiT 3"lfct~l!Cfldl/m ~ WI' "% 1 ~ 3"l~R:Cfll if ctlfttCfl ~ ~ s ~fd~ld, 

'qffif if 6 ~r~wld, (l('Cfli(Vl fqf-iq£1 ~- 1 m >rftf ~ (f~ 1 c:rsf cn1 ~ 

fqf-iq£1 ~ m 0.96 >rfu ~ ~~ 'ffi 3"ll~lfC::d ~ 3"l•~HYUJ1 ~ cnT 

TTUAT ctil f~ ~ I ( ~ ~ : 'l1ffif, ~ : 3"l ~ R:Cfll) 

7 3,000 
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